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is-tissmn | 9% 42.20 2088 087 208 |1|i# - tgusenm | 53 47.40 2642%- 077 202 |1liw-tisgern | 43 37.17 16.76 106 217
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“h e F 191 214.34 120.56 1.00 .00.0 74 e~ F 124 274.08 166.97 1.03 .00.0 h R 7 67 152.72 80.78 094 .00.0
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e 25787 % 37 41.52 21.55 0.94 19.4 42§58 % 26 57.47 32.71 1.03 21.0 425847 % 11 25.07 10.76 0.78 16.4
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8leg® 11 12.34 7.44 1.37 5.8 8 =% 6 13.26 8.61 1.03 4.8 81 i 3 6.84 4.81 1.84 45
9| R 10 11.22 7.09 0.62 5.2 915 % 3 6.63 4.01 0.58 24 9 "% 2 4.56 5.13 1.63 3.0
10| 4 & <= 7 9 10.10 5.63 1.70 4.7 10] % % 7 3 6.63 3.70 1.99 24 10|+ ¢ 2 4.56 2.62 151 3.0
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14+ ¢ % 2 4.56 2.62 151 1.0 141§ fr 8 e B 1 2.21 1.44 1.10 0.8 4)tp £ £ k= B 1 2.28 1.14 0.45 15

+ “g;;TA Wi KPS F
15] 95 = % 4 4.49 2.08 1.26 2.1 |15) 4 Fr 1 221 1.23 0.64 0.8 15 2 1 2.28 0.63*- 0.52 15
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R 85 25540 12749 107  .00.0 w4 g 5] 56 33573 18431 115 .00.0 “id g 5] 20 17468 7503 096 .00.0
L 70 21033 10475 109 824 L] 49 29376 16034 122 875 S ] 25 15058 6743 113 862
Wis - tisfms | 2 63.10 3005 127 247 |1|i# - tgagenn | 14 83.93 4327 134 250 |1liw -t sgenn 7 4216 1899 116 241
2| e gpoermn | 16 4808 2131 156 188 |2|uw . imfurs | 12 71.94 3687 186 214 |2|uw . imiears 4 2400 675 105 138
3 |sqerp g 8 2404 1131 063 94 |3|-s 7 41.97 2751 117 125 |3|eprsm 3 18.07 1110 086 103
7 e 7 21.03 1363 112 82 |4|wqerpnig 5 29.98 1615 061 89 |4|wgesn oz 3 18.07 684 069 103
5|eps s 3 18.07 1110 086 35 |5|auwm 3 17.99 1066 103 54 |5|mafepemnn 2 12.05 589 359 69
6|sm 4 12.02 711 128 47 |eliw 2 11.99 673 097 36 |6|wus 2 12.05 409 103 69
7|5 1R GEE OB 2 11.99 625 078 24 |7|srpcmmn 2 11.99 625 078 36 |7|sum 1 6.02 391 751 34
8ls % 3 9.01 505 090 35 |8|pmm 2 11.99 512 240 36 |8|uwnois 1 6.02 344 1001 34
9 | n 3 9.01 430 070 35 |olv e 1 6.00 389 993 18 |9lix 1 6.02 344 081 34
10|53 5 % 3 9.01 351 216 35 |[10]s i 1 6.00 389 165 18 |1olsmm 1 6.02 208 184 34
Huatigprn | 15 4507 275 098 176 B 7 4197 2397 082 125 A s T 4 2400 760% 051 138
15 s 1 6.02 196 188 12 |u)ews 1 6.00 389 043 18 |1|reizamewn 1 6.02 208 108 34
FEFEIMEAP T =
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13| m 2 few o 2 6.01 3.07 263 24 13|z mpne A kw1 6.00 3.20 284 18 |13 ; ;” PEAREEL 6.02 1.33 126 34
| 2 6.01 303 091 24 |4 %?i} )ﬁg FRGRE [ 6.00 309 975 18
15 %?i} ERFRGEL | 6.00 300 975 12 |1slieszame 1 6.00 309 079 18
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54 e 7 281 22927 12334 101 .00.0 4 g 7 156 25752 14718 091  .00.0 st Ao ] 125 20166 10226 119  .00.0

g 228 186.03 9917 101 8Ll L 138 22781 12958 092 885 T g 108 174.24 87.30%+ 126* 86.4
1| perep o 52 42.43 2271 117 185 | 1|sqespmig 32 52.82 3005 111 205 |1|epsim 23 37.11 1919  1.80* 184
2|~ s a 23 37.11 1919 180 82 |2|is - tiafenm | 25 41.27 2297% 068 160 |2 |sqeser mia 20 32.27 1627 135 160
3lis - tistena | 44 35.90 1833* 075 157 |3|- s 22 36.32 2232 108 141 |3|is tgagern | 19 30.65 1449 091 152
alan  syoemg | 36 20.37 1624 101 128 |4|esg . igsuars | 20 33.02 1890 089 128 |4|un . zmieurn | 16 25.81 1374 125 128
5|cen 22 17.95 1061 096 78 |5|auwm 11 18.16 976 105 71 |s|eim 7 11.29 600 143 56
6 | A1 G OB 9 14.86 780 103 32 |6|snsncmmsn 9 14.86 780 103 58 |6|ews 7 11.29 580 103 56
7 e 15 12.24 653 098 53 |7)|ews 8 1321 749 097 51 |7|reizamewn 5 8.07 439 148 40
8| im 7 11.29 600 143 25 |s|li# 5 8.25 403 068 32 |8|siuyp 4 6.45 297 169 32
9|4 11 8.98 451 097 39 |9fsim 3 495 376 140 19 |9liw 4 6.45 258 098 32
10]s % 9 7.34 3.29 078 32 |10]s5x 5 3 495 2.40 104 19 |10 ;;‘U R 4.84 1.85 109 24

Aussgarm | 53 4324 2416 098 189 Aussgarn |18 20.71 1760 081 115 Hurtagrrn | 17 27.43 1497 088 136
(7] PR 8 6.53 333 103 28 |u)reszames 3 495 238 068 19 |11|m s emmpn 2 3.23 397 098 16
12|54 5 7 5.71 343 156 25 |12|ssew 2 3.30 261 124 13 |12l 2 3.23 178 109 16
13 ; fgﬁ‘ FEARTIL g 4.84 185 109 11 |13]ses 2 3.30 222 135 13 13|z s gmper e | 2 3.23 1.22 220 16
1455 4 3.26 200 120 14 |14|zssmreneann| 2 3.30 158 163 13 |14 1 161 104 326 08
1502 s 2mpne i hm| 4 3.26 137 180 14 |15|es 1 1.65 130 080 06 [15]s e s 1 1.61 090 259 08
W L L4, BAR IR £ X @ 3°122,562. 0% 9 1260,578. 04 & {261,984 0% -

2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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“h e F 130 239.86 129.21 1.07  .00.0 74 e~ F 83 302.79 183.47 111  .00.0 h R 7 47 175.46 79.02 1.02 .00.0

LA B 7 100 184.51 96.70 1.07 76.9 LA g F) 73 266.31 159.74 1.12 88.0 LA e A F) 38 141.87 65.41 117 80.9
1|srfosmp o3 27 49.82 25.66 1.39 20.8 1|prfosmp 23 16 58.37 36.87 1.27 19.3 1pfosmp w2 g 11 41.07 13.44 1.66 234
2|5 % ~AFE R 26 47.97 2441 1.03 20.0 205 # 2§ E o R 16 58.37 33.42 1.01 19.3 205~ 2 F E ok 10 37.33 17.54 1.09 21.3
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3| 11 20.30 12.03 1.13 8.5 K 11 40.13 24.82 1.18 13.3 3 2% 3 11.20 6.71 242 6.4
41 - BB 9 16.61 8.10*- 0.57 6.9 4l BB fonr R 8 29.18 16.84 0.81 9.6 4| i % 3 11.20 5.63 1.46 6.4
5]+ PR CHERE ) e 4 14.59 8.13 1.04 3.1 5|leg® 5 18.24 10.30 1.09 6.0 5 | 5% 3 11.20 4.72 1.03 6.4
6 |5 %% 7 12.92 6.72 1.07 5.4 6 |5 5% 4 14.59 8.17 111 4.8 6 |~ 15 5 % 2 7.47 6.41 0.37 4.3

FRIE AP T L . o o
7 2 3 11.20 6.71 2.42 2.3 7| 7R (O e 4 14.59 8.13 1.04 4.8 7157 #% 2 7.47 4.20 241 4.3
8 |¢r i % 3 11.20 5.63 1.46 2.3 8 |rek 3 10.94 8.07 5.50* 3.6 813 % 2 7.47 1.66 1.05 43
9l #% 5 9.23 5.14 1.03 3.8 9% % 3 10.94 7.20 0.94 3.6 ) L 1 3.73 3.04 0.97 2.1
1005 % 5 9.23 4.76 0.98 3.8 10| 4 £ <= B 3 10.94 5.92 1.56 3.6 10)2im 4 & o= % 1 3.73 2.05 0.71 2.1

Hois bt A R F) 30 55.35 32.51 1.08 23.1 Ho 2t & o 5 F) 10 36.48 23.73 1.06 12.0 Hopozbt A g F) 9 33.60 13.61* 0.66 19.1
11+ 50 5 % 2 7.47 6.41 0.37 1.5 |11} 4 =& 2 7.30 4.66 2.14 24 1Y@ A ek ok 1 3.73 1.96 1.14 2.1
12|+ ¢ s 2 7.47 4.20 241 15 |12 ¢ 2 micd & L KB 1 3.65 3.07 1.86 1.2 12| 5% % 1 3.73 1.33 1.79 2.1
3|bima & o= B 4 7.38 3.67 1.20 3.1 |13 %% 1 3.65 2.68 1.41 1.2 1393 5 % 1 3.73 0.83 1.18 21
14)re% 3 5.54 3.88 5.35* 23 |14)¢ i 1 3.65 2.19 1.07 1.2 1455 ~ 8 B 4oz P 1 3.73 0.83*-  0.17* 2.1
15)% i 2 3.69 2.59 1.01 15 | 15]a sie sy 1 3.65 1.99 6.30 1.2
Moot L BUEMPALE Y A v fie 3754,198.04 ¥ 4227,411.54 4 4426,786.5 % -
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3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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i (ICD-10%~ #f) A 5= = g % | (ICD-10%~ #f) A 7= e ¥ Fe Lk % | (ICD-10% #f) A i v v Fv = b %

“h e F 116 290.67 130.20 1.07  .00.0 74 e~ F 76 371.91 178.14 1.08 .00.0 14 R ) 40 205.41 83.80 1.01  .00.0

R o | 96 240.55 107.15 111 828 - X Bt ) 70 342.55 164.62 113 921 - R F) 31 159.19 65.73 103 775
1P#fesp 23 % 21 52.62 24.95 120 181 1 |sfesep o2 5 15 73.40 38.28 127 197 V54~ 25 %% 11 56.49 22.30 138 275
205 % ~ L5 E o R 21 52.62 23.34 092 181 | 2|r =#k 11 53.83 32.76 135 145 2 P o 6 30.81 11.45 1.03 150
<) ERILNE = 98 9 44.04 15.81 220 78 |3|i¥ cAFEIfRE 10 48.94 24.19 066 132 Kl RREELES: 3 15.41 7.18 0.67 75
41 vk 11 27.56 16.72 133 95 |4)s il 9 44.04 21.82 096 118 |4)#3 infuzrik 2 10.27 4.88 0.40 5.0
515 23k 11 27.56 13.15 0.77 95 | 5] sisp (HE O 9 44.04 15.81 2.20* 118 5 s 2 10.27 4.81 0.78 5.0
6% & 9 22.55 8.05 1.96 78 |6 & 7 34.25 13.28 2.33 9.2 ) L 2 10.27 3.72 2.36 5.0
T s R 3 15.41 7.18 0.67 26 |7 PpEER 3 14.68 5.95 0.90 39 AR 2 10.27 3.37 123 5.0
8 P& %R 5 12.53 5.27 0.85 43 | 8|5 2 9.79 6.01 0.49 2.6 81+ ¥ WA 1 5.14 2.98 1.46 25
Ilm A & T B 3 7.52 2.92 1.00 26 |9 r s imT 2 9.79 3.83 1.08 2.6 92 ¢ Hmicd v 4 KB 1 5.14 252 2.96 25
10] 55 5 %, 3 7.52 1.94 151 2.6 |10)%5 2 9.79 2.68 1.52 26 |10] @ A frdi w3 1 5.14 252 1.42 25

o2t & g & F) 20 50.12 23.05 091 172 P2t X g v ) 6 29.36 13.52 0.74 7.9 Bt X g~ ) 9 46.22 18.07 096 225
1= ¢ WA 1 5.14 2.98 1.46 09 |11l)uA 1 4.89 2.81 1.80 13 |11} 5 =1 1 5.14 2.29 9.73 25
12) & &% 2 5.01 3.04 0.48 17 |12)aw 1 4.89 231 191 13 |12)tw 2 &< H e B 1 5.14 2.15 0.82 25
135 & 2 5.01 1.94 1.16 17 (13|24 micd v A K& 1 4.89 1.34 1.82 13 |13 =% 1 5.14 1.43 1.37 25
)2 ¢ 3 Bicd & L K R 2 5.01 1.83 2.31 17 14 o fl i vaiE 1 5.14 1.00 2.36 25
1506 % 1 251 1.45 0.88 0.9

ot lLFsivBke ¢ grE Y Aor e 3439,008.04 ¥ 1220,435.04 4 4£19,473.0+4 -
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LY 2 10.65 7.28 1.47 2.5 T |5 5% % 3 15.70 10.04 1.28 5.6 7 6% 1 5.32 4.42 1.97 3.7
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1 ;”’? Ve Gy 2.60 224 447
18] 1 2.60 186  0.67
14]e g fen 2 1 2.60 112 134
15| -5 1 2.60 079 325
W GL: 1.4, B A KsE® L B 338,445 5% 9 219,803 04 & 218,642 5% -

2 4R i 5 SRR P B Th AR R R P2 % (0=0.05)

4 TR KR

2 i

4k 2L
SLT

%
p s g/ Y- Mo kAR BB S F1 BF Ak (0=005)

7

% ( Standardized rate) % 1220008 WH.O, & F A ¢ Z#2 84 5 A% o Tk ) 2 74EB 5= FHEFM
3. #& 2 it > = 1t ( Standard mortality ratio, SMR) - L

A AR FLAGRG PRIt A T




00 B OHE M B om o~ < R 9

3 RW111& (2022#)
@ —F\J. g ,]ui_ e ,ﬁ
o — 7= A-§  REC BE 50 |% W w 7= AS§  WEC RE 50 % * R < 5§ WEC RE -
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE
i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %
w4 o 9] 109 24469 13657 106 .00.0 4 g 7 70 30684 17900  1.07  .00.0 st Ao ] 39 179.46 97.02 104 .00.0
asrn | s w0rss oms7 114 807 | |eemmrm | 63 27616 16125 114 900 | |emerm | 5 16105 8800 115 897
1l5s t5udmm | 24 5388 2875 113 220 |1l|is - rgasenm | 17 7452 4169 123 243 |1|i# - i atenm 7 32 1686 093 179
2|t pqeourn | 16 3592 1721 122 147 |2|- s 14 6137 3699 169 200 |2[|swgesen m 6 2761 1338 114 154
3|c e 14 3143 1835 163 128 |3|eg . igfurs | 13 56.99 3134 152 186 |3)iw 5 2301 1084  339% 128
4 [sgerep 2 13 2018 1683 080 119 |4 |sqospzig 7 30.68 1970 063 100 |4|cprsm 3 1380 759 065 7.7
5|5 7 1571 809 165 64 |5|gem 3 13.15 867 362 43 |5|meizimew 3 1380 691 252 17
6|« s 4 3 1380 759 065 28 |6lsum 2 8.77 561 049 29 |6|ww i gienmn 3 1380 516 065 7.7
7|t & e 5 1122 567 176 46 | 7[wsspcmminn 2 8.77 476 061 29 |7|mafresm 2 9.20 796 269 51
8 ;;}V Gl I 9.20 7.71 200 18 |8]|:# 2 8.77 461 072 29 |8 fg ;*"" HEAREEL 9.20 7.71 201 51
9|55 2 9.20 600 113 18 |olreizamen 2 8.77 447 120 29 |of|esm 2 9.20 600 113 51
10 »15p o) 2 8.77 476 061 18 |[10]s i 1 438 342 123 14 |10|mses 2 9.20 558 083 51
i herm | 22 4114 2900 o081 193 | |rescimmem | 7 %068 1775 069 100 | |#es--germ | 4 184 so2  0s7 108
11 5 e 3 6.73 448 321 28 |11]ww 1 438 333 173 14 |1n]# fem snt 1 4.60 265 1447 26
12|50 3 6.73 420 054 28 |12|esmm 1 438 306 032 14 12| 1 4.60 215 156 26
13|/ & fotr o 2 4.49 395 201 18 |13|sss 1 438 265 2738 14 |13|mgqen ¢ i 1 4.60 211 259 26
14| s % 2 4.49 280 047 18 [14]" o 1 438 223 697 14 |14]wsn 1 4.60 211 163 26
15|64 2 4.49 278 169 18

soosn o LR ARE S A v e 144,545,549 12922, 813.04 & 421,732.54 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4 FH KGR AR BT P RN A T g




¥

Sy
NV
AR
Wt
» S
*
<
o
b
4.
)

®111#E (2022#)
& 3t g Ea e 14+
g &R = 45 R w1 S R = Ly R L =R R = 249 HREC s B
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE

i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %
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8ls % 4 9.97 436 110 41 |8lreazamen 2 9.83 557 146 30 |8lum 1 5.06 1224 181 31
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2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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os 3 9.52 218* 081 39 |9|vww 1 6.05 324 190 21 |9ol|wfgen e g 1 6.67 168 284 36
10| 4 & 7 1 6.67 366 078 13 |10|% sispcamEn 1 6.05 313 032 21 |10]s % 1 6.67 168 071 36
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, SR ()
1253 2 6.35 210 120 26 |12|ren s cme 1 6.05 207 070 21 fi2f 1 6.67 096 832 36
ik EREYE ST SE 1 6.05 313 032 13 13|/ 4 fotr o 1 6.67 096 184 36
14| e 1 3.17 172 107 13
15| 5 e 1 317 165 145 13
W qLi 1.4, B RES Lr B 3481,515.5% 9 116,530.54 & :14,985.0% -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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i (ICD-10% #f) A Hc =& o= & Fe= b [l (ICD-10% #g) (¥ =X R Fe= L % [l (ICD-10% #f) A #c Fe= & =& Fe= %
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6|4 5 14.74 8.02 1.54 1R 3 17.23 1003 139 47 | 6|t emEnen 1 6.06 6.53 1926 3.1
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9 ; ;‘}V L B 6.06 2.91 1.28 25 amer e kRl 1 5.74 2.86 278 16 |9 um 1 6.06 233 564 3.1
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[ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = & Fv =L % | (ICD-10% #f) A = & Fe= % Fe =L %

54 e 7 107 29996 15282  1.22% .00.0 4 g 7 69 37386 19454 124  .00.0 st Ao ] 38 22072 12135 117 000

L4 ) 90 25230  13121%+ 134* 841 L4 g A 65 35219  185.24*+ 138* 04.2 L ) 31 18007 10031 133 816
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10|54 3 8.41 934 309 28 |10]smm 1 5.42 345 107 14 |10|s 1 5.81 457 701 26

Husxscgprn | 17 4766 2160 084 159 A g ] 4 2167 931* 048 58 A g ) 7 4066 2104 076 184
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155 % 2 5.61 186*- 054 19 155 % 1 5.81 118 074 26
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0 B it SRBRER S F 5 TRy AR REL A FEFRNE PR 5= F(0=005)

5 ( Standardized rate) %14 2000# W.H.O. £ % 4 v #de 4 3 Al o Th- ) LA 7= Fa7 ¥ i
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i (ICD-10%~ #f) A B i v K Fv =l % | (ICD-10% #g) A B 7= & = F Fv =l % | (ICD-104 #f) A B v K = Fv =t %

54 e 7 104 24871 11572 101  .000 4 g 7 69 32147 16591 105 .00.0 st Ao ] 3 17197 6594 093 000

g 87  208.05 9717 108 837 L 62 28886 14869 117 899 T g 30 14741 5016 102 857
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Huzsaagprn | 17 40.65 1855* 076 163 B 7 32,61 17.22%- 053 101 A g 5 2457 6.77% 060 143
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FRHENMEAP 7S o -
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k| B 2 478 3.18 121 19 |13fi e 1 4.66 2.28 717 14 |13 ;;” PEAREEL 491 1.04 100 29
| B T | B 4.78 153 247 19 |14]s % 1 4.66 228 036 14 |walreszamen 1 491 104 08 29
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sooarc L5 RALEERE S A vfic :+41,816.04 9 1221,463.54 -+ 1£20,352.54 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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% ( Standardized rate) %2 2000# WH.O. & % 4 v £ap 34 5 A8 o Tk | L 7R 5= F R F 51 24
3. {%# v 5+ = 1t ( Standard mortality ratio, SMR) ° o %
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gy iR

BFE3F(a=0.05) -
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F111# (2022# )
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R 45 R Latd R R > Ly R 3 = KR s B
» = R 7 AT » 2 R F FHAr A = R OF oA
i (ICD-104 %) s & 7= & e L i (ICD-104 #7) 7= & = 7=k % | (ICD-104 #8) e L %
“h e F 259.25 107.31 0.77 1 Rk 7 306.18 139.84 0.74  .00.0 T R F) 0.78  .00.0
By T 245.24 103.20 1.07 Rt T 292.86 136.38 096 957 - S F 143 929
BB RO 63.06 22.81 1.39 TR 66.56 33.89 144 217 LR S 166 286
FECAFEfR 56.05 30.83 0.78 B BB o P 66.56 20.34 1.20 21.7 FEAF R 1.09 286
IR R 49.05 15.15 0.89 FEAFER 53.25 36.31 059 174 3| FfosFp g 144 286
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H o obd &g 5 ) 14.01 412*  0.13* Hp2bd X g F) 13.31 3.46*%  0.12* 43 H o 2t X g 5 F] 0.11* 7.1
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2. L Wi g T TR = s F (0=0.05)
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1|srfosmp o3 15 57.17 23.35 1.36 27.3 1|prfosmp 23 10 73.88 34.45 1.34 25.6 V54~ 25 %% 6 47.23 17.91 1.19 375
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i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %
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